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wiRiEt ERIE H &
function img new = myBilinear (img, ratic)
% B EERST

[row, col, channel] = =size(img);

% RIBGEREAlratic B uTEE . FH(E

row_new = round(row*ratiao) ;

col_new = round(col*ratia) ;

img_new = zeros(row_new, col new, channel, class{img));

Ypadding b5
img_t = zeros(rowt2, col+Z, channel);
img_t(2:rowtl, 2:col+l,:) = img; (x; Y) (X + 1, Y)

img_t(1,2:col+l,:) = img(l,:,:);

img_t(rowt2, 2:colt+l,:) = imgirow.:,:); \Y
img_t(2:rowtl.1,:) = img(:.1.:);

img_t (2:rowtl, col+2,:) = img(:,col,:); u
img_t(1,1,:) = imgil,1,:); P

img_t(1,col+2,:) = img(l.col,:);
img_t(row+2,1,:) = imglrow.1,:);
img_t (row+2, col+2, :) = img(row,col,:);

W& AETpixel s HITIHE (x,y + 1) (x + 1’y + 1)

for 1 = 1:row_new
for j = 1:col_new
u = ifratie — floor({ifratie); H{TIHE

v = jfratie — floor(j/ratio); %3 E
x = floor (i/ratiol+l;
v = floor (j/ratio)+1:
SEZ=Z0UANN1 |
img_new(i, j,:) = (l-~uwi*{1-v)*img tix,¥, ) + u*il-v)*img t(x,3+1,:)... /£'§‘IE l I:)I)(eIEI\J1:RE *
+il-u)*vkimg t(x+1l,v, ) + usvkimg tix+1,v+1, ;) 4

end

end
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%% WM=KiGE
function [imout] = myBicubic{im, ratio)
% EHEERT

[x ori, v ori, ] = sizef(im);

SRAEFR A Blratio By — P =ER. FIHE

X = ¥X_ori ¥ ratio;

v = v_orl ¥ ratio; |

imout_raw = zerosix, ¥):

WEFE—pixel a00 a03

for 1 = 1:x

for j = 1. @

%_temp = x_ori/fx#*i;
v_temp = v_ori/v¥];
% FRCo il

¥_dn = floorix_temp); a30 a33

¥ up = ceil (=_temp) ;

v_dn = flooriv_temp);
v up = celliv_temp) ; _
% 8 EE 6 TR fHE A (a+2)[a|*~ (a+3)[z*+ 1 for[z] <1
for k = (xdn - 1) (e_up + 1) W(z) = { alaf® — Salf + Salz| — 4a  for 1 < [z] <2
for 1 = (yv.dn - 1): (v up + 1) 0 otherwise
ifk <1l ||l k>»=ori|]1<1]|]13v ori
0,

H, afR-05

pixel

elze

pizel = im(k, 1, 1J;
end
imout_raw(i, j) = imout_raw(i, j) + pixel * BiCubic(k—x_temp) * BiCubic(l-v_temp);
end
end
end

end

imout = uintd{imout_raw) ;

end



.
0 JRE

® Matlab
»» uint8(5) * 0.3 »» uint8(3) + 0.3
- = ans =
uintd uintd
2 5
W Python

import rmumpy &s hp

mmber = np. array([5]). astype (np. wint5)
rmber

array([0]. dtype=uintd)

rmber * 0.3

arrayi[1.5])

mmber + 0.3

arrayi[5. 3]) 7



O s51=T:
B W= XRIH{EBICubicER # SCI R

%% BiCubici!{i

“lfunction w=s (wx)

wx = abs (wx) ;
if wx <1

w=1- 2%wx 2 + wx 3:
elseif wx <=1 &k wx < 2

w =4 — S4wx +0¥wx 2 — WX 3:

else

w = 0;

-~ end

v && 5




(HFEIGAIE) £ 2R1E

O wIE{ENAES
n EREREHE
BRI EER
v i’]'fﬁ/)ﬁ/&' (/)E/EZ 9&7’1—)00)
v HEIER GEBXEnNn > «)
v EGgEN ERETE )




g BEHEHEK

O RI\EH3.3.17, SMELEBIEHEEZE, TEENHEKEITE
#k, RERMIANA2. 64, 256
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v EREHEEEN. LAEERS . HESRENEERS
function [img 2] = myHisteg(img 1, L)

% =EER R

size_1 = sizelimg_1);

h = =size_1(1);

w = size_1(2);

% BESERALEREE
if L2 % fEmEEAE,. FiuHdrlE. EERRE O OREERRNGAE mEXAsEEEATEE. 9ol
img_1 = floor ((double (ing_1)*L)/256); &% HAELLT-EHR
else
th=median(img_1(:));
for i=1:h
for j=1:w
if img_1(i, ji»th
img_1(i,3)=1:
elsze
img_1i1, 3)=0;
end
end
end

end

W AR I ERAIE I R
n = zeros(1,L);
for i=1:h
for j=1:w
k= img_1(i, j);
nik+l)=n{k+1)+1; % F3|NEERN—
end
end
% RS
img_2 = zeros(h. w):
for 1=1:h
for 1=1:w
k= img_1(i,ji+1;
img_2(i,j) = sum(n{l:k))*(L-1)/ (h*w),
end

end

% BiLET[El0"255 11
img_2 = img_2%(256/L) :
img_2 = uint8iimg_2) ;

end
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1 [o)gn:
B EPRRBMEIER M E =
v IARERR
» Padding 0
> Padding Bl{&IAR
> AHITIERE, REBEGSRINELF
v BREETeREK
> ARTFERRUINSIRIT N —RE K
> HEiEEfloatiH i T T —R R
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O paddlng WF + BRERERIEN (R

500

2000 10000 20000
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O padding 1374 + X EREREN (Uint8)

$

100 500

rp. array( [B. 117, astype inp. wintd)

array ([6], dtype=uints)

rp. array( [5. 8]). astype (np. wnt)

array ([6]. dtype=uintd)

Numpys st Fints 2 Blst i SRS
BUEATAY 7R R

10000 20000 >



|
O padding 1374 + ®XIEREREN (uint8)

1T 100 500

tp. arrayl [5. 110, round (). astype np, uintd)

array ([B], dbype=uintd)

tp. arrayl [5. 910, round (). astype hp, uintd)

array ([6], dbype=uintd)
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[0 Padding 0 + B RIERER=EM (Uint8)
r ?i ,

.' ‘:. ‘:‘:‘ ; ? .-’ : ﬂ
1 100 1000

5000 10000 20000



O RESINRIEF + BIRIBEERENL (uint8)

<. .
.S
5

20 100

5000 10000 20000
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O RI\EHAM3.6T, XMEGHLESR, FRANSHHEF (T
L 15']: moon




1N
" REBF
v Matlab

»» uint8([-1, 256])

12 nint8 TOE

0 254

v Python

np. arrayl [—1, 256]). astype (np. uinth)

array ([265, 0], dtype—udintd)

» (£ pythonfmIZIEIF BT B 7 i)
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(B FEGLIE) £=R1E

IRIBHH5.8751515.12, MR T KRimRBILAIE ST E =R,
=S i’*BEE/,..\/BZu&Q’EQW/WEZ H 3T,
"% : Matlab, Python, C++ 4]

®  MatlabXASEZREIEH, TTAUER R AR
v atmosph.m (P221, {4l 5.11)
v' my_wiener.m, my_inverse.m
> BUERYSEENIEILB5. 115 T [ES. 278 BT AERIBIEIK R B NS48
45 : demo-1.jpg
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1EENEHIR (L R B

H(u,v) =

sin[z(ua+vb)]e ") xt)=at/T; y(t)=bt/T

z(ua+vb)
BIRAZIE

H = zeros (M. N) ;

for u= (-M/2):1: (M/2)-1
for v = (-N/2):1: (N/2)-1
D = pi*(u*atv*h) ;
Hiu+t (M/2)+1, v+ 2)+1) = (T/D)*=in(D) ¥exp (—11%D) ;

H = zeros(M.N);
a=0.02;
b=0.02;
T=1;
for u = (-M/2):1: (M/2)-1
for v = (-N/2):1: (W/2)-1
D = pi*(u*atv*h)
if D==0
Hiut+ (M/2)+1, v+ (H/2)+1)=T;
el=ze
Hiut (M/2)+H1, (/20 +1) = (T/D) *#sin(D) *exp (—11#D) ;
end
end

end
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O BRER: B3MERO0, FZEAsigmadySHinERE =
B SRR
v Matlab: imnoise(l, ‘gaussian’, m, var)K £
> HIRuint8ZRIE &%, var = (sigma)/(255 X 255)
> HIAYI—1LE[0,1]89double 2 BUE{&, var = sigma
m SRR A
v G(u,v) =Fuv)+ N v)
> B

A

% % noilse
noise = sqrtisigma) .#* randn(M N):
Noise = fftshift (fft2 (noise)) :

24
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FIGURE 4.5

(a) A continuous
function. (b) Train
of impulses used
to model the
sampling process.
(c) Sampled
function formed
as the product of
(a) and (b).

(d) Sample values
obtained by
integration and
using the sifting
property of the
impulse. (The
dashed line in (c)
is shown for
reference. It is not
part of the data.)

25



BV 55 4 0 18 2

FENHRIE, o
EeRTEER
SR /I\
Sy o

f (@) X Spr

F(u) M
K] E3
()

_2/AT  —1/AT 0 1/AT 2AT 8
F(u)
A/\MAM o RimEE
f f f | f f s
—3/AT -2/AT —1/AT 0 L/AT  2/AT  3/AT



SiiE R AZ

O EEMZRESIZ SR

m CFT
f(t) & F(w)
eIt f(t) > F(w — )
m DTFT
f(n) & F(Q)
eIt f(n) — F(Q — Q)
m  TZEDFT
flx,y) & F(u,v)
N F (1, y) o F(u — g, v — vp)
Huy = 5,00 =

. (U0X VoY . , ,
2T TN ) = pJm(x+Y) — pimX ¢ imy

= [cos(mx) + jsin(mx)] X [cos(my) + jsin(my)]
= (—1)*x (—1)Y= (—1)*tY
M N

(DY f(x,y) < F(lt—j,v—?) ¥
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